OLI(® Solenoid valve

OULEIKAI PNEUMATIC 4V series(5/2 way,5/3 way)

Coil

Electrical entry: Standard voltage: Protection: IP65(DIN40050)
il PECERIEERS - DC12V,DC24V,AC24V,AC36V, Temperature classification: B Class
P j AC110V,AC220V,AC380V Electrical entry: DIN type Line type

. 0 o) = . . .
Line type  DIN type Scopeof voltage: AC+15% DC +10% Activating time: 0.05 sec and below

4V SerieS(5/2 Way,5/3 WaY) Parameter

Port size | Port size| Port size
Product images Model Valve type "[J" Model Optional Same parameters
9 (IN) | (OUT) | (exhaust) yp p P
4V110-M5-[] M5
¥ 4V110-06-0J 1/8 %AXTIDZ}E%
o | 4V210-06-[] 1/8 RPS
e f (DActing
~ 4V210-08-[] 114 T Single control Blank: DIN type
S 4V310-08-[] 1/4 5/2-Way L: Line type
L -10- Spring Reset
4v310-10- 358 [ 4 pring @Electrical entry | Fluid:Air(to be fitered by 40um
4V410-15-[] 172 Blank: Internal pilot filter element)
4V120-M5-[] M5 W: external pilot X
. JE 2V120-06-C] 18 A B Operating pressure:0.15-0.8MPa
= -§ FANTRR (@ Thread type
i a. 4V220-06-] 1/8 ‘ RPS Blank: Gyp Proof pressure:1.2MPa
4V220-08-[] 1/4 1/8 NPT: NPT
double control N . 9(~70°
4V320-08-[] 1/4 ‘ 5/2-Way PT: PT Temperature:-20~70°C
-10- 3/8 tat '
4V320-10-L] 114 state memory @Voltage Lubrication:Not required
4V420-15-0] 112 bC12v
4V130C/E/P-M5-[] M5 C: ST AR DC24V Material of body:Aluminum alloy
4V130C/E/P-06-C] 1/8 e AC24V
E: RIS AC36Y
4V230C/E/P-06-[] 1/8 : AC110V
4V230C/E/P-08-01 1/4 | s p. ST, AC220V
AC380V
4V330C/E/P-08-0] 1/4 double control
4V330C/E/P-10-0] 3/8 | 14 5/3-Way
4V430C/E/P-15-0] 172 Spring Reset
4V series(5/2 way,5/3 way) External dimensions
DIN type Line type Model PO P1 P2 | P3 |P4| P5 | P6| P7 |KO(®)| K1 | K2
ws 4V110-M5 _ M5X0.8 | M5X0.8 | 28.2 | 21.2 | 14 | 147 27 | 0 33 | 13 | 13.2
— w3 4V110-06 1/8 1/8 | 28.2 | 202 16 | 14.2 | 28 | 3 33 | 13 [13.2
| - 4V210-06 1/8 1/8 | 31.7 |22.7| 18 [13.7] 36| 0 33 | 17 |[12.7
I Pmanual 4V210-08 174 178 | 31.7 |21.2] 21 [13.7]36 | 03 | 3.3 | 17 |12.7
L, Butten 4V310-08 1/4 1/4 40 | 29 |22 [175] 45| 0 43 | 20 | 15
! 4V310-10 3/8 174 40 | 28 |24 [175| 45| 4 43 | 20 | 15
M [l N 4V410-15 172 172 57 | 39 | 36 | 255 63 | 4 43 | 27 | 21
3 i
5)s o | g = N Model K3 Ka(®) | K5 | K6 | M | WO [W1] W2 | W3 | W4 | W5
22 ‘Dl ! o | ¥ 4avito-m5 30 33 | 212 | 14 |25 18 | 27 | 994 | 34 | 55 | 285
=® 9l | |l gy 5~ avito-6 30 33 | 21.2| 14 |25| 18 | 27 | 99.4 | 34 | 55 | 285
o | 7*( 4 ___4v210-06 38 43 | 217 ] 20 | 3 | 22 | 35| 117 | 40 |66.7]365
K ‘ o BEH{® __4v210-08 38 43 | 217 ] 20 | 3 | 22 | 35| 117 | 40 |66.7]365
k7l 7 4V310-08 50 43 28 | 24 |24 27 | 40| 135 | 40 |69.2] 39
W 4V310-10 50 43 28 | 24 | 24| 27 | 40| 135 | 40 |69.2] 39
4V410-15 72 55 43 | 28 |2.8] 34 | 50 | 168.4| 40 |742| 44
DIN type Line type Model PO P1 P2 | P3 [P4| P5 [ P6| P7 |KO@®)| K1 | K2
w4 ws 4V120-M5  M5X0.8 | M5X0.8 | 71.2 |64.3] 14 [57.7[ 27| 0o 33 | 13 |56.2
on 3 4V120-06 1/8 178 | 71.2|63.2] 16 [57.2] 28| 3 33 | 13 |56.2
| | B \ 4V220-06 1/8 1/8 | 854 |76.4] 18 [67.4]36] 0 33 | 17 |66.4
, : I 4V220-08 1/4 1/8 | 854|749 21 |674[36] 03 | 33 | 17 |e6.4
+* ! ] 3 4V320-08 1/4 174 | 949 |83.9]22[724]45] o0 43 | 20 [69.9
K < | M 1 { \ N | mdl
L LY g s B % - 4V320-10 3/8 174 | 94982924 [724]45] 4 43 | 20 [69.9
T d @ \ 4V420-15 1/2 172 [111.4 93436 [799] 63| 4 43 | 27 [754
A o
® @* §] \ _ & @* 5[0} _— Model K3 K4(®) | K5 | K6 | M | WO |W1| W2 | W3 | w4 | W5
Do 197 | El Do EE 4V120-M5 30 33 | 642 14 |25 18 |27 [142.4| 34 | 55 | 285
A Sa TT Tl /“ 4V120-06 30 33 | 642 14 |25]| 18 |27 [1424] 34 | 55 | 285
JLDE e [ % ol g L 4V220-06 38 43 | 754 | 20 | 3 | 22 | 35| 171 | 40 |66.7|36.5
Bl i ‘ ‘ 4V220-08 38 43 |754] 20 | 3 |22 [35] 171 | 40 [66.7]365
. P= 4V320-08 50 43 | 829] 24 [24] 27 [40] 190 | 40 [69.2] 39
HEmE e KU kT 4V320-10 50 43 | 829 24 [24] 27 [40] 190 | 40 [69.2] 39
WG | W1 WO | w1 4V420-15 72 55 | 974 | 28 |28 34 | 50 | 222.8| 40 |74.2| 44
DIN type Line type Model PO P1 P2 | P3 |P4| P5 | P6| P7 |KO(®)| K1 | K2
i 4V130C/E/P-M5 M5X0.8 | M5X0.8 | 71.2 [ 64.3 | 14 [ 57.7 | 27 | 0 33 | 13 [56.2
P o 4V130C/E/P-06  1/8 18 | 71.2]632| 16 |57.2| 28 | 3 33 | 13 [56.2
| | \ 4V230C/E/P-06  1/8 178 | 854 |76.4| 18 |67.4] 36| 0 33 | 17 |e6.4
=‘= ; L 4V230C/E/P-08  1/4 1/8 | 85.4 | 74.9| 21 |67.4|36| 03 | 33 | 17 |66.4
I ‘ M}% I 4V330C/E/P-08  1/4 1/4 94.9 | 83.9| 22 |724| 45| 0 43 | 20 |69.9
E . | - 4V330C/E/P-10  3/8 14 | 94982924 | 724 45| 4 43 | 20 |69.9
4@/ X —d o@ 3 4VA30C/E/P-15  1/2 172 [111.4 | 93436 [799| 63| 4 43 | 27 | 754
o | o
© @, © ‘ © @, e Model K3 K4(®) K5 K6 | M | WO | W1| w2 W3 | W4 | W5
o —
i Ho . |38 %‘ e 4V130C/E/P-M5 30 33 | 642 14 |25| 18 |27 |[157.4| 34 | 55 | 285
@ | {53 (i 4V130C/E/P-06 30 33 | 642] 14 |25| 18 |27 [157.4| 34 | 55 | 285
- i : [ - 4V230C/E/P-06 38 43 | 754 20 | 3 | 22 | 35| 190 | 40 |66.7|36.5
0 =.=“ < I | - =.=rl ©
& [ 1 | [ 4V230C/E/P-08 38 43 | 754 20 | 3 | 22 | 35| 190 | 40 |66.7|365
\ - \ 4V330C/E/P-08 50 43 | 829 24 |24 27 | 40| 2090 | 40 [69.2] 39
——Tff ——ﬂﬂ_ e T 4V330C/E/P-10 50 43 829 | 24 |24 27 |40 209 | 40 [69.2] 39
W0 W1 |- WO_| 4V430C/E/P-15 72 5.5 97.4 | 28 | 28| 34 |50 |243.8| 40 |74.2| 44

OULIC BREBENSE Http:/iolkptc.com



	5: 4v

